Home Woxk 3(Sslutions)

3(-9)— 5(-1)
(=) (2) = (1) (-3)

| 5 =5 &
(=27 + S =35
T —2+9 |- 7

S—6 - |

@ Vv.V,= 2+15+9 =26

HV;H:_\{J+3—|—I = i
IV = (4+25+g1 =110

26
Lede = = 7474474

JIZIO o
& =4]€3




AinB=€6€643 2]

@ IRRAZS! :_\IZLL+ 49 + |

:\P'qu' 50 =23 10844
HvilIv )] = J12x10 = 34°785054
1+ Allews ekt .
IV, XY ) = [ M) )IVe)] Ain@ =23 1084¢

G) Vv, xVo=(—22 7 - 1)
V3 = (-3 2 7)

e e\
I

P

R+ 154

“4"”‘"7 -23
\




v, = (' 3 ""’)

Vl"vj";(53 I35 19)

V:X(sz"s)'-‘/5‘7-rls -
~-53 —19
)3 = IS 9

VvV, xv,) x vy £ V) x (Vs X V3)




@ (\/’ xv}).y_} —
E6 FlIF =7 = 7%

}(Vl )(VJ—)'V3) =75

© v, x (v, xVg) = (70 =72 -14-¢)

V,.V3 = —34+6 -7 =€-16=- -4
V.V, = 2 +I15+3 =26
Vi-¥)Vv,= =4 (2 5 -9)
= 8 -20 3¢)
(Vi Va) Yy = 2¢(-3 2 7
= (<718 S22 182)

(Vi+V3) Vo = (Vo) vy = (78-8, =72, 3¢-182)
=(70 -72 _.!44)



Likewise

(v, xvy) x vy = (5—, s 7 _23)

(v,-vs) v, = (-8 —206 3¢)

(Vy-V3)V, = (—-64—!0—53)(! 3 -1
- -59 (1 3 -1)
=ss —-177 §5)

,(VI'V3)V.2“(V.1'V})V| =
(59-% , 17720, 36-5S9)
=(s1 157 =23

(D v, x(vaxv3) = (V) Vs)Vy = (¥, V5 ) V3
VX (V3 X)) 2 Yy Vi) Ve = (Y, Vs) Vi =0 %) Vs T ()
VaX(VyxVa) = (V52 V2)Y, — Ms-vi) Y, "
=(VaeV3) V) = (Vi-V3) VvV,

e vesult fllows by 5%»13%1.



la x )= llall Nl sm 5%
||a xbll=1]alll[b]] SinC

Nbxcll = [1bllflell Sim A )

H"ome VeY

@

F)’b""\ &F;q;})‘bn
O‘F' cfo“/J"‘W‘uc{'.

L)< xel =L )|axsll > Li)p re]

= fAres g e /"riwgr/e.

1+ Aollows Ahet
| & xcll = |l & xb)|

=> &l lcl] SinB =Sl l6)l six<

- ”C” _ Hb)l |
Siwec S B
L ke wise
I lls)

Sm B Sl\h/')



@

(9) [Tagruge [ dewhBy sinplifedk
PR g 4

We hneed MN= fo”‘m’\“‘g hao fﬂQﬂH}ECfE’J)
@ Fo~ Gljb/C a1y A vex Ve (A3 Jru.}k:s

(A X b)- < =(bXxc):a
() (GKXb)XC :(a.c)b—-(b.C)U\

RHS = @-¢)p.-4) —b-)@-d)

(Asfh—é @ (e Uf)»e{'
LHS = (dek)-(ﬁxb)



}
&f

\/ccﬁ'B N fﬂs |
(A X b).(cxa{) =
@
¢)(b-ed) =(@-d)(b-)

Volu
me_ °'F %
ba vecfo /I“H )g /,
e /chv{ Forive A
s 0,C 1S
a.bxc)
1
Lipxe) = Ares § 25
Vevheal A .
Q 1y e ’ﬂ{‘l A
"‘)le be hoetn A /fhm
G w bXC .

a'

5



